C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. ANSWers
Y (P +6)-(ViP+6) .
2.
V (7-9)-(Zq+8) ;
.
D (TE-2)- (Vo -16) ;
6.
Y Tcr2)+ (Tuc+ ) .
8.
% -(2/9W-5)+(8/9W+17) 0
10.
6)

'(3/5D'3)-(10/25D+16)

D Yy -20) - (Ygv -17)

Y (Y r6)- (T 12)

9)

(TA-17) + (FA +12)

0 '(4/5'\/I '7)-(15/25'\/I -2)
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
K ( 10/20P +6)-( 3/4P +6) L -5/20P+O
P+ 6- P 6 7,017
P (7Q-9)-(Zq+8) . JyE+14
7,Q-9-7,Q-8 L/ CH5
Y (VE-2)- (Ve 16) . Zwe
-2 ouE + 16 . -/,D-13
Y Ycr2)+ (L +7) Gyt
-5/40C -2+ 25/40C +7 8 -12/16T +6
¥ (Fw-5)+ (T +17) . /A5
-2/9W +5+ 8/9W +17 0 -35/25M +9
) -( 3/5D -3) -(10/25D +16)
D +3- VD - 16
D Yy -20) - (Ygv -17)
Y +20- Y5y +17
Y (Vrr6)-(MYT-12)
YT -6- 76T +12
¥ (YA -17) + (T +12)
—1/6A +17 + 3/6A +12
O VM -7y - (FeM - 2)
PV M + 7= T oeM + 2
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